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More with probability – unequally likely outcomes
1.  The spinner on the left is spun once, and then the spinner on the right is spun once.
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a. Create a tree diagram and area model that accurately displays ALL outcomes and probabilities.
b. What is the probability that both spinners show blue?  Justify your answer.

c. What is the probability that both spinners show the same color? Justify your answer.

2. A pencil box has three yellow pencils, one blue, and two red pencils.  There are also two red erasers and one blue.  
a. Create a tree diagram and area model that accurately displays ALL outcomes and probabilities.
b. If you randomly choose one pencil and one eraser, what is the probability of getting the re-red combination? Justify your answer.
3. Sally’s mother has two bags of candy but she says that Sally can only have once piece.  Bag #1 has 70% orange candies and 30% red ones.  Bag #2 has 10% orange, 50% white, and 40% green.  Sally’s eyes are covered and she must first choose from one of the two bags.  She then will choose one candy from the bag that she chose.  

a. Create a tree diagram and area model that accurately displays ALL outcomes and probabilities.
b. What is the probability that she will choose a candy that is her favorite color – orange?  Justify your answer.
